__‘ 4 - PNEUMATIC ACTUATORS OMAL SpA.

NGT
A~ 4
ATTUATORI PNEUMATICI
PNEUMATIC ACTUATORS

DA DOPPIO EFFETTO DOUBLE ACTING

560



4 - PNEUMATIC ACTUATORS OMALSPA s
L,
——
-

FEATURES & BENEFITS

Minor attrito tra pistone e cilindro.

Less friction between piston and cylinder.
Fasce di tenuta e scorrimento energizzate autolubrificanti.
1 Si evita I'incollaggio della guarnizione al cilindro anche dopo lunghi

Energized and self-lubricated strips. periodi di fermo.

It prevents the bonding of the seal to the cylinder even after long periods of

inactivity.
Slot, bussole e spine con acciaio con durezza maggiore a 50 HRC. Maggior resistenza alle forze presenti all' interno dell'attuatore.
2
Slots, bushes and pins made by steel with hardness higher than 50 HRC. Higher resistance to the forces inside the actuator.
Attrito volvente tra slot e pistone. Minor attrito.
3
Rolling friction between piston and slot. Less friction.
Minor attrito tra pistone e albero con conseguente minor usura dei pezzi.
Reduced friction between piston and shaft with consequently less wear on
the relevant parts.
Momento torcente potenziato in fase di apertura e chiusura.
Empowered Breakaway Torque (BTO & BTC).
Minor ingombro rispetto agli attuatori pignone e cremagliera con conse-
guente minor spazio necessario.
Scotch yoke con attrito volvente( trasformazione del movimento lineare Smaller volume/size than rack and pinion actuators (with the same torque)
in movimento rotatorio mediante pistone e albero privo di ingranaggi). therefore less space required for installation.
4
Scotch yoke with rolling friction (transformi t tion into lii . ) ’ L .
co C yo .e wi . rofiing friction (. ranstorming rotary motion into finear Minor peso rispetto agli attuatori pignone e cremagliera (-30% Kg/Nm)
motion using piston and shaft without teeths/gears). s . . . I
con conseguenti risparmi sulla realizzazione della struttura dell'impianto.
Less weight than the rack and pinion (-30% kg / Nm), with consequent savin-
gs on the construction sizing of the plant/equipment.
Minor consumo d'aria rispetto agli attuatori pignone e cremagliera (-40%
aria cm3/Nm doppio effetto e -20% aria cm3/Nm semplice effetto) con
conseguente minor carico di lavoro del compressore o possibilita di
utilizzo di un compressore con dimensioni ridotte.
Lower air consumption compared to the rack and pinion actuators (-40%
air cm3/Nm for Double Acting and -20% air cm3/Nm for Spring Return)
therefore less load on the compressor or the possibility of using a smaller
compressor's size.
Minor usura delle fascette energizzate grazie alla bassa rugosita della
Cilindro rullato. superficie (0,15 micron Ra).
5
Rolled cylinder. Less wear of the energized ties thanks to the low roughness of the surface

(0.15 micron Ra).

Interfaccia per elettrovalvole NAMUR integrata dal DAN15. Netm the s allavms lbaesi sop e .

From sizes bigger than DAN15, NAMUR interface for solenoid valve is already

integrated. No need for extra plate.

Massimo controllo in tutte le fasi di lavorazione.

Processo produttivo interamente eseguito in OMAL. g 2
<O
i i i =
100% in- house manufacturing process technology, Maximum control and accuracy in all the stages of the manufacturing % br
process. =
Z O
" . . . . . a <
Certificato ATEX. Ne corTsente l'installazione in presenza di ambiente potenzialmente
esplosivo.
AR e Installation is allowed in a potential explosive environment.
Certificato fino a SIL 3. Elevato livello di sicurezza funzionale garantito.
Up to SIL 3 certified. Guarantee of the high level of functional safety.

561



.., 42 - PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE

..
-

AGO "SR
ATTUATORE PNEUMATICO SEMPLICE EFFETTO ALLUMINIO
ALUMINIUM SPRING RETURN PNEUMATIC ACTUATOR

OMAL S.pA.

DATI TECNICI

Coppia da 15 Nm a 4000 Nm.

Flangia d'attacco: ENISO 5211

FO3-F04 - FO5-F07-F10-F12-F14-F16 - F25.

Conforme alla EN 15714-3.

Angolo di rotazione: 92° (-1°, +91°).

Momento torcente: Il momento torcente di ritorno dipende solo
dall'azione della molla ed ¢ indipendente dalla pressione di alimenta-
zione. Sono disponibili 4 differenti tarature per la molla; vedi tabella.

La chiusura automatica per mezzo delle molle avviene in senso orario.

In ciascun attuatore la cifra che segue la sigla SR corrisponde al valore
della coppia di spunto in Nm. alla pressione di 5,6 bar.

A richiesta: Versione ATEX in conformita alla direttiva 2014/34/UE.

CONDIZIONI DI ESERCIZIO

572

Temperatura: da -20°C a +80°C. (Versioni speciali: alta temperatura:
-20°C +150°C; bassa temperatura: -50°C +60°C).

Pressione nominale: 5,6 bar; massima di esercizio 8,4 bar.

Fluido di alimentazione: aria compressa filtrata secca non necessaria-
mente lubrificata.

In caso di lubrificazione usare olio non detergente o compatibile con NBR.

Design by
GIUGIARO DESIGN

TECHNICAL FEATURES

Torque from 15 Nm to 4000 Nm.

Mounting flange according to EN ISO 5211
FO3-F04-F05-F07-F10-F12-F14-F16-F25.

In compliance with EN 15714-3.

Rotation angle: 92° (-1°, +91°).

Torque: the return torque depends on spring action only notwithstanding
the air supply. The spring is provided in four different sizes (see table).
The code numbers after the letters SR, always correspond to the breaka-
way torque in Nm by 5,6 bar air supply.

The actuator automatic closing takes place in clockwise direction by
means of its springs.

On request: ATEX version in conformity with directive 2014/34/EU.

WORKING CONDITION

Temperature: from -20°C to +80°C. (Special versions: high temperature:
-20°C +150°C; low temperature: -50°C +60°).

Air supply: 5,6 bar; maximum 8,4 bar.

Actuating media: filtered dry compressed air, not necessarily lubricated.
In case of lubricated air, either non detergent oil or NBR compatible oil,

must be used.



4.2 - PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE OMAL Sp.A. e
I ———
.
-

DIAGRAMMA DEL MOMENTO TORCENTE IN FUNZIONE DELL'ANGOLO DI ROTAZIONE
OUTPUT TORQUE DIAGRAM RELATED TO ROTATION ANGLE

Nm Aria Air Molla Spring Nm
100% 100%
75% 75%
0% 50%
25% 25%
0° 15° 30° 45° 60° 75° 90° 75° 60° 45° 30° 15° 0°

TABELLA DEL MOMENTI TORCENTI (Nm) OUTPUT TORQUE TABLE (Nm) a°= ANGOLO DI ROTAZIONE  a°= ROTATION ANGLE

. 2,8 bar + 40 PSI 3,5 bar = 50 PSI 4,2 bar + 60 PSI 5,6 bar = 80 PSI
MISURA SIZE al
aria air molla spring aria air molla spring aria air molla spring aria air molla spring
0° 7,5 5 94 6,3 11,3 7,5 15 10
SRN 15 50° 3,7 3,7 47 4,7 56 5,6 7,5 7,5
90° 5 7,5 63 9,4 7,5 1.3 10 15
0° 15 10 18,8 12,5 22,5 15 30 20
SRN 30 50° 7.5 7.5 9,4 9,4 11,3 11,3 15 15
90° 10 15 12,5 18,8 15 22,5 20 30
0° 26,5 17,5 33 22 40 26 53 35
SRN 53 50° 13 13 16,5 16,5 19,5 19,5 26 26
90° 17,5 26,5 22 33 26 40 35 53
0° 30 20 37,5 25 45 30 60 40
SRN 60 50° 15 15 18,8 18,8 22,5 22,5 30 30
90° 20 30 25 37,5 30 45 40 60
0° 45 30 56,3 37,5 67,5 45 90 60
SRN 90 50° 22,5 225 28,1 28,1 339 339 45 45
90° 30 45 37,5 56,3 45 67,5 60 90
0° 60 40 75 50 90 60 120 80
SRN 120 50° 30 30 375 37,5 45 45 60 60
90° 40 60 50 75 60 920 80 120
0° 90 60 112,5 75 135 90 180 120
SRN 180 50° 45 45 56,3 56,3 67,5 67,5 90 90
90° 60 20 75 1125 90 135 120 180
0° 120 80 150 100 180 120 240 160
SRN 240 50° 60 60 75 75 90 920 120 120
90° 80 120 100 150 120 180 160 240
0° 180 120 225 150 270 180 360 240
SRN 360 50° 90 90 112,5 112,5 135 135 180 180
90° 120 180 150 225 180 270 240 360
0° 240 160 300 200 360 240 480 320
SRN 480 50° 120 120 150 150 180 180 240 240
90° 160 240 200 300 240 360 320 480
0° 360 240 450 300 540 360 720 480
SRN 720 50° 180 180 225 225 270 270 360 360
90° 240 360 300 450 360 540 480 720
0° 480 320 600 400 720 480 960 640
SRN 960 50° 240 240 300 300 360 360 480 480
90° 320 480 400 600 480 720 640 960 o)
0° 900 600 1440 960 £5
SR 1440 50° 450 450 720 720 D
90° 600 900 960 1440 o 2
0° 960 640 1200 800 1440 960 1920 1280 9
SR 1920 50° 480 480 600 600 720 720 960 960
90° 640 960 800 1200 960 1440 1280 1920
0° 1440 960 1800 1200 2160 1440 2880 1920
SR 2880 50° 720 720 900 900 1080 1080 1440 1440
90° 960 1440 1200 1800 1440 2160 1920 2880
0° 2000 1333 2500 1666,3 3000 1999,5 4000 2666
SR 4000 50° 1000 1000 1250 1250 1500 1500 2000 2000
90° 1333 2000 1666,3 2500 1999,5 3000 2666 4000

573



.., 42 - PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE

..
-

SRN 15 (Nm) + SRN 53 (Nm)

Dispositivo di limitazione della corsa
Stroke limiter device

———_ (max107)

Dispositivo di limitazione della corsa
Stroke limiter device
(max 10°)

—

OMAL S.pA.

Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface

24 Anello di centraggio a richiesta
Centering ring on request

ENISO 5211

q |- E

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)

Accessories interface EN 15714-3 (VDI/VDE 3845)

SCHEDA TECNICA DATA SHEET

Codice Code SRN0015401S SRN0015402S SRN0030401S SRN0030402S SRN0053401S
Spare seals KGGI0014 KGGI0016 KGGI0060
Misura Size SRN 15 SRN 30 SRN 53
I1SO F03/F05 FO4 FO4 FO5/F07 FO5/F07
A 2333 2333 259 259 304,3
A1 (2,8 Bar) 203,8 203,8 228,5 2285 270,7
B 11 11 14 14 17
Cx depth M5x8 M5x8 M5x8 M6x9 M6x9
D x depth M6x9 - - M8x12 M8x12
E 36 42 42 50 50
F 50 - - 70 70
G 10 10 13 13 13
H 30,3 30,3 35,7 35,7 42,8
| 9 9 10 10 12
L 79,2 79,2 90,4 90,4 103,3
M 31,5 31,5 37,7 37,7 44,8
N 47,7 47,7 52,7 52,7 58,5
O 13,2 13,2 16,5 16,5 19,3
P 27,7 27,7 32,7 32,7 38,5
Q 31,5 31,5 37,7 37,7 44,8
R 10,9 109 14,5 14,5 16,2
S 20 20 20 20 20
T 59,2 59,2 70,4 70,4 83,3
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/8"
Ch 13 13 13 13 17
Weight (Kg) 1,2 1,2 1,95 1,95 3
Air (dm3/cycle) 0,09 0,09 0,17 0,17 03

H = CENTRO DEI FISSAGGI BASETTA  H = CENTER OF PLATE'S FIXING
Per la tabella dei componenti vedi indice "AGO Tabelle Componenti' a pag. 558.  "AGO Components’ Table” to be found in the Index on page 559.

574



4.2 + PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.p.A. .

.
-

SRN 60 (Nm) + SRN 360 (Nm)

A

Dispositivo di limitazione della corsa
— Stroke limiter device

T (max107)

@7

Dispositivo di limitazione della corsa
Stroke limiter device T
(max 10°)
D C P Q
4
T <

O
Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface

24 Anello di centraggio a richiesta
Centering ring on request

ENISO 5211

(K E

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)

Accessories interface EN 15714-3 (VDI/VDE 3845)

SCHEDA TECNICA DATA SHEET

Codice Code SRN0060401S SRN0090401S SRN0120401S SRN0180401S SRN0240401S SRN0360401S
Spare seals KGGI0018 KGGI0019 KGGI0020 KGGI0021 KGGI0022 KGGI0023
Misura Size SRN 60 SRN 90 SRN 120 SRN 180 SRN 240 SRN 360
1SO FO5/F07 FO7/F10 FO7/F10 FO7/F10 F10/F12 F10/F12
A 338,5 393,7 409,6 474 520,5 613
A1 (2,8 Bar) 309,1 341,8 361,6 406,6 454,1 523
B 17 22 22 22 27 27
C x depth M6x9 M8x12 M8x12 M8x12 M10x15 M10x15
D x depth M8x12 M10x15 M10x15 M10x15 M12x18 M12x18
E 50 70 70 70 102 102
F 70 102 102 102 125 125
G 13 16 17 19 19 19,5
H 44,8 54,5 58,1 60 574 61,5
| 12 15 15 19 19 22
L 107 137,5 141,1 148 164,9 178
M 46,8 56,5 60,1 62 729 78,5
N 60,2 81 81 86 92 99,5
(0] 19,3 24,8 24,8 24,3 29,5 29,5 S &
P 40,2 51 51 56 62 69,5 g0
Q 468 56,5 60,1 62 72,9 785 =&
R 18 20,2 22,5 25,5 29 31,8 % b
S 20 30 30 30 30 30 o<
T 87 107,5 11,1 118 134,9 148
W (Gas) 1/8" 1/8" 1/8" 1/8" 1/4" 1/4"
Ch 17 22 22 22 27 27
Weight (Kg) 3,35 59 6,8 8,9 11,8 16,5
Air (dm3/cycle) 0,33 0,55 0,38 1 15 2

H = CENTRO DEI FISSAGGI BASETTA  H = CENTER OF PLATE'S FIXING
Per la tabella dei componenti vedi indice "AGO Tabelle Componenti' a pag. 558.  "AGO Components’ Table” to be found in the Index on page 559.

575



.., 42 - PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE

..
-

SRN 480 (Nm) = SRN 960 (Nm)

A

Dispositivo di limitazione della corsa
Stroke limiter device
(max 10°)

Interfaccia EN15714-3 (NAMUR)
EN15714-3 (NAMUR) interface

<H7

) wo !
Lo
! 1}
© o -
24
80
| h1l
(o] . e\\
o 476‘
™
o % o

SCHEDA TECNICA  DATA SHEET

Dispositivo di limitazione della corsa

Stroke limiter device

— (max 10°)

—

OMAL S.pA.

e
J O

Anello di centraggio a richiesta
Centering ring on request

ENISO 5211

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845)

Codice Code SRN0480401S
Spare seals KGGI0024
Misura Size SRN 480
1SO F10/F12

A 648,2

A1 (2,8 Bar) 563,8

B 36

C x depth M10x15

D x depth M12x18

E 102

F 125

G 19,5

H 78

| 24

L 198

M 93,5

N 104,5

(0] 38,5

P 74,5

Q 93,5

R 36,5

S 30

T 168

W (Gas) 1/4"

Ch 27
Weight (Kg) 22,7

Air (dm3/cycle) 28

H = CENTRO DEI FISSAGGI BASETTA H = CENTER OF PLATE'S FIXING

Per la tabella dei componenti vedi indice "AGO Tabelle Componenti" a pag. 558.

576

F14
648,2
563,8

36
M16x24
140
19,5
78

24

198

93,5
104,5

385

74,5

93,5

36,5

30

168

1/4"

27

22,7

2,8

SRN0480402S

F12
798
683
36
M12x18
125
19,5
86,5
27
216
101,5
114,5
385
84,5
101,5
41
30
186
1/4"
36
33
4,2

SRN0720402S

KGGI0025
SRN 720

SRN0720401S

F14
798
683
36
M16x24
140
19,5
86,5
27
216
101,5
114,5
38,5
84,5
101,5
41
30
186
1/4"
36
33
4,2

SRN0960402S

F12/F16
828
7144
46
M12x18
M20x30
125
165
18,5
99,2
32
237,7
114,7
123
48,5
93
114,7
46
30
207,7
1/4"
36
42
59

"AGO Components’ Table” to be found in the Index on page 559.

KGGI0026
SRN 960

SRN0960401S

F14
828
714,4
46
M16x24
140
18,5
99,2
32
237,7
114,7
123
48,5
93
114,7
46
30
207,7
1/4"
36
42
59



4.2 + PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.p.A. .

.
-

SR 1440 (Nm)

834
686
46 188 498
046 HI 1
_ Cr _
)
N
Regolatore di corsa ] f 5 - - Regolatore di corsa
Stroke adjustment ) Stroke adjustment
(+/- 5° max) | ~_ (+/-5°max)
Q
e
D165F16

3/8' GAS 20

4 o —
q; Interfaccia EN15714-3 (NAMUR 2)
EN15714-3 (NAMUR 2) interface
o o
= 0
N
n°4 Méx10 S\
36 1
/£
<
e
— = —
- — olo —

359

roYs)
({)T o~ ox
O <
ENISO 5211
Méx12 130 n°4 M5x8
[
O:I: ] M N - Ep—
R + 2,
° &
oo
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845) g &)
Accessories interface EN 15714-3 (VDI/VDE 3845) < O
>
235
25
SCHEDA TECNICA DATA SHEET =
Codice Code SR1440E16D8A
Peso Weight Kg 74,0
Volume aria Air volume dm3/cycle 11,0
Guarnizioni di ricambio Spare seals KGSI1035

Per la tabella dei componenti vedi indice "AGO Tabelle Componenti' a pag. 558.  "AGO Components’ Table” to be found in the Index on page 559.

577



.., 42 - PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.p.A.

..
-

SR 1920 (Nm)

1001
857

046 HI1

W Dispositivo di limitazione della corsa

Dispositivo di limitazione della corsa Stroke Iironirer device
Stroke limiter device = (max 10°)

(max 10°) }
O
wL

40 D165F16

20
3/8" GAS

{
. ? :1? ‘ Interfaccia EN15714-3 (NAMUR 2)
e * EN15714-3 (NAMUR 2) interface
n
i 240
n°4 Mé6x10 S 30 117 Y
) 4 D 46|
0y
00| o 7
S ™.
© ° ? O
™

-
148.5_| 166
14

O
r ™.
wnt v
N ol o n°4 M20
[SPTIE
EN1SO 5211
Méx12 130 n°4 M5x8
j
o 1
™
‘ Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
12l2] Accessories interface EN 15714-3 (VDI/VDE 3845)
T
T

Disponibile versione con doppia regolazione della corsa (+/- 5°max) con codice SR1920E16D8A.
Available version with double stroke adjustment (+/- 5°max) with code SR1920E16D8A.

SCHEDA TECNICA DATA SHEET

Codice Code SR1920E1608A
Peso Weight Kg 67,0
Volume aria Air volume dm3/cyc|e 12,0
Guarnizioni di ricambio Spare seals KGDI0030

Per la tabella dei componenti vedi indice "AGO Tabelle Componenti' a pag. 558.  "AGO Components’ Table” to be found in the Index on page 559.

578



4.2 + PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.p.A. .

.
-

SR 2880 (Nm)

1201

996
046 H] 1

Regolatore di corsa
2 2 Stroke adjustment
Regolatore di corsa (+/- 5° max)
Stroke adjustment
o
A5 /

(+/- 5° max)

40 165F164
" 0
3/8" GAS 20
4 o —
%) Interfaccia EN15714-3 (NAMUR 2)
i @ < EN15714-3 (NAMUR 2) interface
R
[¥p)
I N 361
n°4 Méx10 N 155 206
3¢hll Regolatore di corsa
4 Stroke adjustment @ 72
(+/- 5° max) @52
ol o [
(o}
1o I
1l. o U T [Ye}
: 3 o
7 . o
N
f = o )+ 3
<
~O
&
b oln
os| ol n°4 M20
[SPlIg —~
ENISO 5211
Méx12 130 Nn°4 M5x8
o
[sp}
G
= — e —
Sio
: :'El) Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessories interface EN 15714-3 (VDI/VDE 3845) [OX%]
Ea
<O
g
235
25
SCHEDA TECNICA DATA SHEET =
Codice Code SR2880E16D8A
Peso Weight Kg 116,8
Volume aria Air volume dm3/cycle 21,0
Guarnizioni di ricambio Spare seals KGSI2035

Per la tabella dei componenti vedi indice "AGO Tabelle Componenti' a pag. 558.  "AGO Components’ Table” to be found in the Index on page 559.

579



.., 42 - PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE OMAL S.p.A.

..
-

SR 4000 (Nm)

1370
1184
055 H]1
q p
(7N

- + - I Regolatore di corsa

o o Stroke adjustment
Regolatore di corsa N | w
Stroke adjustment \o‘ o \
(+/- 5° max) \l ¥,
[« ! = D
el
o
22.5
40
20 @254 F25
3/8" GAS =
/ D72
4 o —
> G2 D52
o & ~ Interfaccia EN15714-3 (NAMUR 2)
7S] EN15714-3 (NAMUR 2) interface (@]
i o el
n°4 Méx10 ~
36h11
4
| <
1 — S ° N -
! o~
A <
Ha Bgza} —=+ 5
o~
— ":
H | [T 1)
!
mf g 88

ENISO 5211
Regolatore di corsa
Stroke adjustment
(+/- 5° max)
Méx12 130 n°4 M5x8
@ D
o
™
ar+—H - — p— —— — D
0— 5 n —v
S0
d D
Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)

Accessories interface EN 15714-3 (VDI/VDE 3845)

SCHEDA TECNICA DATA SHEET

Codice Code SR4000E25D8A
Peso Weight Kg 183,0
Volume aria Air volume dm3/cyc|e 29,1
Guarnizioni di ricambio Spare seals KGSI1040

Per la tabella dei componenti vedi indice "AGO Tabelle Componenti' a pag. 558.  "AGO Components’ Table” to be found in the Index on page 559.

580



4.2 - PNEUMATIC ACTUATORS > AGO - ALUMINIUM SPRING RETURN "SR" TYPE OMAL S p.A. ..
I ———
.
-

PNEUMATIC

%)
o
2
<
=)
—
Q
<

581



414 - PNEUMATIC ACTUATORS > WORKING PLANE PNEUMATIC ACTUATOR AGO “SR" TYPE

OMAL Sp.A. ~“EE..

.
-

SCHEMA FUNZIONAMENTO ATTUATORE PNEUMATICO AGO “SR"
WORKING PLANE PNEUMATIC ACTUATOR AGO “SR” TYPE

i}

,0 0

4 o © D

o o0 4

SCHEMA DI FUNZIONAMENTO

Senza pressione di alimentazione, nella versione semplice effetto, I'at-
tuatore torna automaticamente in posizione di riposo compiendo una
rotazione oraria e la posizione finale & quella rappresentata nel disegno.
Sul foro 2 é consigliato montare un filtrino onde evitare che polvere o
particelle solide possano entrare nella camera del cilindro senza tuttavia
impedire il passaggio dell'aria.

WORKING PLANE

Without air supply, the spring return actuator returns to its resting position, rota-
ting in a clockwise direction. The drawing shows its final position.

We assembling a small filter on the air connection 2 to prevent dust and parti-
cles into the cylinder chamber without, however, preventing the passage of air.

L[l

,0 0

4 o ©

o0 4

SCHEMA DI FUNZIONAMENTO

Immettendo aria nel foro 4 di alimentazione, i pistoni si muovono
verso l'esterno comprimendo le molle, si ha una rotazione antioraria e
la posizione finale & quella rappresentata nel disegno.

WORKING PLANE

Supplying air through the air connection 4, the pistons move outwards
pressing the spring. An anticlockwise rotation takes place and the final
position is shown above.

ATTUATORE REGOLABILE-ISTRUZIONI PER L’ UTILIZZO ACTUATOR WITH STROKE ADJUSTMENT-INSTRUCTIONS

TAPPO
CAP

i CHIAVE C
KEY C

A) Verificare che le molle siano in posizione di riposo osservando la chiave
dell’albero (part. n°1) come da disegno e controllando che nel foro “D”
non ci sia pressione.

B) Togliere i controdadi (part. n°3) agendo sulla chiave C.

C) Con un cacciavite avvitare le viti (part. n°2) in senso orario ed effettuare
la limitazione di corsa desiderata.

N.B. La corsa puo essere limitata per un massimo di 10° da 80° a 90°

D) Immettere aria nel foro “D" e verificare che entrambe le viti (part. n°2)
siano a battuta contro i pistoni (part. n°5).

E) Bloccare i controdadi (part. n°3) muniti di O-ring (part. n°4) per la tenu-
ta tra controdado, tappo e vite.

A) The springs must be at rest position, the shaft (part. 1) must be as shown in
the drawing. Air connection D must not be supplied with air.

B) Remove the counter-nuts (part. 3), acting on C key.

C) By means of a screwdriver turn screws (part. 2) in a clockwise direction
until you obtain the requested end-stroke regulation.

Note: maximum adjusting stroke 10°, ranging from 80° to 90°.

D) Supply connection D with air pressure and check that both adjusting
screws (part. 2) stop the pistons (part. 5).

E) Screw the counter-nuts (part. 3) and their O-ring (part. 4) to keep nut and
cap tight.

607

PNEUMATIC

%]
o
<
2
S
<




. 415 - PNEUMATIC ACTUATORS > AGO COMPONENTS' TABLE OMAL SpA.

..
-

COMPONENTI "AGO" SEMPLICE EFFETTO: SRN 15 + SRN 960
"AGO" SPRING RETURN COMPONENTS: SRN 15 + SRN 960

DO E®

(19

618



OMAL SpA.

415 - PNEUMATIC ACTUATORS > AGO COMPONENTS TABLE

SdOLVNLOV

JILVINNINd

619

1 14pd 24pds Jo spuaUOdWo) OIquIRdL IP 113 9P 1ejodItied 4

Aoj/p wnjuiwnyy oluiwnje 1p eba l buu buniajuay o1bbesyuad Ip ofjpUY 1T
Aoj|p 12215 oleidde Ip eHa L ay0A ay} Jo uid 213spja [puid)u| euIdU| edlISe|d eulds Y4

Aoj|p 13235 oleidde Ip eba 1 a0/ ay3 Jo uid 13sDJa [pUI)XT euI)SD edliseld eulds (44
49qqni JILU}N B3ljjU BWWoD C buu-o0 P74
Aojjp 12215 olepdde 1p eba 4 buuds ejjop ¥4

Aoj|p 13235 oleldde Ip eba 4 dp> buyds ejjow 310}1UU0D f44

AojIp 12235 oleldde 1p eba 4 Mauds buippoj burds ejjow esuedaud 1p A 1z

12315 SS3JUID}S XOUI OleIDDY 8 SMaIdS 1A 0z

12qQnJ JJj1IJIN BII|UHU PLWOD 4 buu-0 dp>-pu3 oddey [ap buu-Q <61
Aojjp wnjujwnyy oluiwnije Ip eba] C NN opeq 8l
W4 1 (1bys buipas 1amoj) buli-Q 31013jul 013q[e bul-O /1l

12315 SS3|UID]S XOUl OleIdIY L 136235 ol

132}S SS3|UID}S XOU| Ole1DdY 1 J3Ysp| ojuawelossads Ip ejjapuoy Sl

UJsaJ J1[p}ady ©d1[e1ddk BuUISDY L buu yioddns [puia)x3 oualss opoddns Ip ojjpuy pl
W4 l (ypys buipas saddn) bui-o a10113dns osaq|e buu-O €l
12QQnJ J1jlIN BI1|UHU BLWOD 4 bun-o suoisid buu-o <l
231yp16-0quD2 211Dd 31 d ¥ Jodns suojsid oyoddns 1p 0318y2siq <Ll
ubyjainfjo4 ouelainijod F4 |D3s diWbuUAg eINU} IP O||]dUY <0l

AojIp 12235 oleldde Ip eHa F4 9A32[S dA1IDJOY OUIDd 6

Aoj|p 13315 oleidde Ip eba 4 ysng ejossng 8

UJsai J1|p}ady Bd|[e}dde BuUISdY 1 Joddns ypys oiaqje oyoddng /
UJsai J1|p}ady Bd||e}dde RUISDY L ysnq }joddng 0juUaWILIIODS I ejossNg 9
Aoj|p 13235 oleidde Ip eba 1 3Y0A 123035 e||92104 S

123}S SS3|UID]S XOUl O[eIdIY L Ybys oiaq|y ¥

Aoy wnjuiwnyy olujwnie 1p eba 4 dp> odde| <
Aojp wnuiwnyy ouwnje 1p eba 4 uojsid duoisid 4

Aojp wntuiwnyy oluiwnije Ip eba] L 4apulif> oipuid L
[DLIdIDIY 3|13l f10 uonpuluwouag auoizeuiwouaq sod




__‘ 415 + PNEUMATIC ACTUATORS > AGO COMPONENTS' TABLE OMAL SpA.

COMPONENTI "AGO" SEMPILICE EFFETTO: SR 1440
"AGO" SPRING RETURN COMPONENTS: SR 1440

\\ \

o>
’
Y /‘ B\ ©
\ ;

\

() -
® &

®

®®®®E

620



OMAL SpA.

415 - PNEUMATIC ACTUATORS > AGO COMPONENTS TABLE

11 Japd 24pds Jo spuauodwio) olquiedl Ip 1Y [9p 4ejodlled 4

SdOLVNLOV

JILVINNINd

1 14pd 3pds Jo spuaUOdWO) OIqUIRdH IP 1Y 9P 1ej0dIIed «

Aojjp [23)5 OleDdY L bupids puia)x3 euId)sd |0l | 81
wnjuiwinjy oluwn||y L dn> buuds spuelb ejjowruo) | /i

ganN | L buu-0 | 9

wniuwiny ouiwn|y L dp> bupids 0jo2d1d ejowuo) | G

danN | L buu-0 | v

Aojyp [3315 oleIDY L MaIdS ejjow eduedaud Ip SUA | €

Aoy [2315 oledY 1 nN dp) eyojed e opeq | v

Aoy 13335 oleddY L N opeq | Ly

gan | L bul-0 | x0%

Aojp |35 oleddy | /£ InN enojed e opeq | 6€

Aoy 2315 oleIDY / smaids do) oibbejquuasse Ip A | 8€

AojIp [23)5 OlRIDDY L dp> odde] | /¢

4N | € buu-o | 9€¢

Aoy 123}5 oledY 1 1apulif) [p12307 3[eId3e| opulld | GE

pajjy auydoin-0qi0d J41d | L (ppay uojsid) bupag epinb 1p ojjpuY | x7€
gaN | L bu-o | «€€

wnyupnfy oWIWN|lY | L uosd duosld | €

UISa1 dl|p3adY edI[e}AdR RUISDY | T (%o0q uojsid) buupag MBYISIQ | «LE
Aoy 2315 OleIDDY L urd buuds auoisindsanue euids | og

Aojjp [2315 OleIDY l 126235 | 67

Aoy 123}s oledY 1 J2Ysp| ojudwelossads Ip e||apuoy | 87

uIsal 2J[p3adYy edIje}ddE BUISDY 1 bunpaq 3sniy; oudlse opoddns Ip ojpuy | /T
W4 | L bul-0 | 497

UIsal J1[p3ady Bd1|e}de BUISDY 1 (doj ypys) bulpag siouadns opoddng | .5z
[pLI23DYY dlelidiely £10 uoipulwWouaQ duoizeujwouaq sod

STVIdILVIN

INMVId3LVIN

AN | T bu-o | vt
UISai 31[p3adY Bd1|e}Ad. BUISDY L Ypys buupag ddns/1i03s Ip ejossng | €2
Aojjp 2315 Ole1dY l ay0A 23005 e||2104 | 7T
4aN | L bul-o | «1T
Aoy 123)s oledY L MaI3s qni9 auoizejobal Ip oueln | o7
Aojjp [23]S OlRIDY L NN opeq | 6L
Aojjp [92]5 OleIDY 1 Mmauds gnio (oddey) oueln | g
Aojp [23)s oledy | £ nu dp) enojed eopeq | /L
Aoy j23)s oleddy | £ Mauds dp) olbBejquiasse Ip A | 91
wnjujwingy olulwn||y L dp> oddej | 5|
wnjujwnyy olwn|y L Jaopds 3jeizueisiq | 1
UISa1 31jp3adY ©DI|e}dE BUISDY L Ypys bulibag 0judWIIOS Ip elOSSNg | €1
Aojp j23)s oleddy | ¢ Maids ejossng Jad aIA | 7L
wnjuiwngy ouwn||y L (snq bulpaq mo7 di0134ul o)ioddns Ip ejossng | | |
X4 L buu-0 | x01
W4 | L buu-0 | 46
UISai 3l[p3adY ed1[e}AE BUISDY L (wonoq yoys) buupag di0u34ul opoddns | .8
Aoy [23)s oledY L MaudS duolsindsanue aYA | £
Aojjp 2315 oledY L Hoys oiqly | 9
4aN | T bul-0 | xS
Aojjp [93)5 OleIDY 1 buuds [puiajuj eusdul ejoN |
wnjujwn)y olulwn||y L Apog odio) | €
Aojjp [92]5 OlIDY L uid [2235 orede eulds | g
Aoy 2315 oleIdY L ysnq 2235 oledde ejossng | |
[DLI2IDIY dlelIdey £1rd uonpujwouaq auoizeujwouaqg sod

STVIdILVIN

INMVId3LVIN

621



. 415 - PNEUMATIC ACTUATORS > AGO COMPONENTS' TABLE OMAL SpA.

I ————————————————————————————————————————————
..
-

COMPONENTI "AGO" SEMPLICE EFFETTO: SR 1920
"AGO" SPRING RETURN COMPONENTS: SR 1920

,,,,,,,,,,,

VERSIONE SEMPLICE EFFETTO
SPRING RETURN VERSION

** OPTIONAL

'VERSIONE DOPPIO EFFETTO
DOUBLEACTING VERSION

622



OMAL SpA.

415 - PNEUMATIC ACTUATORS > AGO COMPONENTS TABLE

1) 14pd 21pds Jo spuauodwio) olquuiedll Ip 1Y [9p 1ejodilled

TYNOILdOxx

11 340d 24pds Jo spuauodwio) olquUedL 1P 1Y [SP 1Ie[ODIMIE ] «

SdOLVNLOV

JILVINNINd

STVIdILVIN

IMVIH3LVIN

Aojjp j2215 oredde Ip eba] 4 uid bunds suois|ndsanue euids | /g
Aojjp 12335 oledY 4 Maids dp) olbbejquuasse Ip )A | 9€
Aojjp wnyujwingy oluiwnjje 1p e6a l buti 123ua>) 0166e13UDD IP Of|PUY |4£SGE
1235 SS2JUID]S XOU| ORIy l Maid§ duolsindsanue dYA | vE
Aojjp winyupwnyy ouiwnjje 1p e67 4 Japulify sjessnej oapulld | €€
12315 SS3JUIP]S XOU| ORIy z Maids ejjowrdaid Ip YA | €
Aojip wnujwnyy oluiwnjje 1p e6a 4 dp> buuds ejjow 210)1UUOD) | LE
[93}$ SS3|UID}S XOul OleIddY 4 1nu dp) epojed eopeq | 0€
12315 $SaUIDIS XOU| 0[R2y z N opeq | 62
44N 4 bun-0 suoizejobai bul-Q | 87
Aojip 2335 otede 1p eba] % buuds e|oW | LT
2315 SS3JUID]S XOUl OleIDDY 4 1NN opeq | 9¢
4aN 4 bup-0 oueib bul-Q | 45T
[23]5 $SOJUID}S XOU!l OleIDDY [4 SMaIds qnio “zejobal Ip oueln | g
[23)5 $S9|UID]S XOUl 4} 1nu dp) eyoed eopeq | £
4aN 4 buu-o oipuljd-0diod buu-Q | 42z
HaN 4 buu-o oddey bul-Q | 412
[AME! L buu-0 d10u34ul 0Jaq|e Bul-O | 0T
[pLI3)DYY d]eLIdRN £1r0 uolpujwouag suoizeujwousq sod

4aN 4 buu-Q euepuod buu-O | 461

12315 SSAJUIDIS XOU| OleIDdY 1 126235 | 81
1331 SS3JUIDIS XOUl OleIDDY 1 13YSbj| 0luUsWeIOSSads e|lapuoy | /1
SUJSaJ 21{D}adY BDI|e}Rde BUISIY L bulipaq 3sniyj -3ss opoddns ojjpuy | 91

W4 L buu-0 -dns o1aqje 6ul-O | xS1

4anN 4 bun-0 suoisid [9p Bul-O | 4L

SUJSaJ 21{D}adY BDI|e}Rde BUISIY ¥ (%2pq uojsid) bulipag oyoddns 0332YdsIq | 4E1L
Pajjly ayydpin-0qip) J41d 4 (ppay uoysid) bupag epinb 1p ojjpuy | 1
Aojjp 2315 olede Ip eba 4 uid 2235 otede euids | ||
AojIp 12315 ole1dde Ip BbS] 4 1snq |32} oledde ejossng | Ol
SUISaJ 21{D]3DY BDI|e1IDE BUISDY L (doj ypys) buipag “1adns'ddns epedseq | 6
Sulsal 21{p}ady edl|e1ade eulsay 1 (wo30q ypys) buupag “1opurddns epsdsey | g
SUJSaJ 21{D}adY BDI|e}Rde BUISSY 1 Ypys buupag oypoddns/wiiiods ejossng | £
SUJSaJ 31{D}adY BD1|e}ade BuUISAY 1 Ybys bulipag 0}UBWILLIODS Ip elOSSNg | 9
Aojip 2315 orerdde Ip eba 1 0A Y2)035 BP0 | §
12315 SS3JUIDIS XOU| OleIDDY 1 Yoys oiqly |
Aojjp winiuwnyy oluiwnjje 1p e6a] 4 dp) odde] | ¢
Aojip winjuiwinyy oluiwnje 1p eba 4 uojsid auolsld | ¢
Aojjp winjujwngy ouwnjje 1p e6a L Japulify oipuld | L

[pLI3)DYY d]elId)eN £1dD uolpujwoua suoizeujwousq sod

STVIdILVIN

INMVIH3LVIN

623



__‘ 415 + PNEUMATIC ACTUATORS > AGO COMPONENTS' TABLE OMAL SpA.

COMPONENTI "AGO" SEMPLICE EFFETTO: SR 2880
"AGO" SPRING RETURN COMPONENTS: SR 2880

spRcis e )N

9:
OROIOISIOIONE)

624



OMAL SpA.

415 - PNEUMATIC ACTUATORS > AGO COMPONENTS TABLE

11 14pd 2.pds Jo sjuaUOdWo) OIqUIRdL IP 11| [9p 1IejodIHied 4

1 1pd 21pds jo spuauOdwo) olquUIRDL IP 113 [9p LIejodIHEed 4

SdOLVNLOV

JILVINNINd

Aoy 2235 oY | ¢ 126235 | 4§

Aojjp 2215 OleDY l Jaysppy oyoddns Ip ejapuoy | €5

W4 | L bul-o | st

4aN L 1ayspo Jayed auoiziuieny | 1§

Aoy 2235 oMY | ¢ bupds jpuiajuj eusdiul eIIOWN | 0§

Aoy 2235 oledY | ¢ bunds [puiax3 eusdlsd e|ol | 6v

whnjujwn)y olulwn||y 4 dp> bunids apuelb ejjow Juod Y

4N | ¢ buu-0 | ¥

wnuiwngy owwinly | ¢ dp> buuds ojoddid ejjowruo) | 9

4N | ¢ buu-0 | St

AojIp 12315 oleDdY 4 MaudS pjjow edledasd aUA i

Aojp [3315 OleIddY L 126235 | €t

£oj|p 9235 OlRIDY L Jayspp "wesossads Ip elapuoy | v

sujsal 21[p]ady ©dl|elade eulISdY L bunpaq jsniyj ousmisaddns ipojpuy | 4l
W4 | L buu-0 | «0v

SUISal DI|p3adY BDI|e}AdE eUISDY L (doy ypys) buiipag siouadns opoddns | ,6€
wnjupwngy olwnly | L Apog odioy | 8¢

4aN | T bun-0 | «L€

4N | ¢ buu-o | 49¢

SUISal JI[DJadY BD1|eIRd. RUISDY L Ypys buupag ddns/110ds Ip ejossng | G€
Aojjp (2215 OlRIDY L oA y2)ods BI04 | HE

wnujwnpy ollwnly | ¢ uolsid duolsld | €€

4aN | T bu-0 suolsid bul-0 | 4Z€

pajly a3ydpin-0qivd I41d | T (ppay uojsid) buipag epinb 1p ojdUY | 4L€
4aN | T buu-0 | «0¢

Aojjp 2315 oledY | ¢ INN opea | 6C

Aoy 9335 oleDY | ¢ jnudp) enojed eopeqg | 8Z

[DLI2}DY djeLidie|y 1D uoipulwoua auoizeujwouaqg sod

STVIdILVIN

INMVIIILVIN

Aojjp 12315 oleDdY | L jnudp) eypoedeopeq | /g
Aoy 12315 oleddy | 1 smauds dp) olbbejquiasse Ip 9)A | 9T
whnjuwnfy owlwn|y 4 dp) odde) | gz
44N 4 buu-0 oddey bup-0 | bz
wnjuwnfy own|ly | ¢ 12puljf> [p1a)07 dleIDlR| OIpUID | €T
Aoj|p 12315 OledY 4 uid buuds suoisindsanue eulds | zz
SUISai Jl|DJady edljejdde euISAY | { (%420q uojsid) buupag MBYISIA | £LT
SUISaJ J]|D}adY ©D1[e1DIR BUISDY 1 Ypys bulipag 0jUdWILIODS Ip elOSSNg | 0T
W4 | L buu-o | 4«61
Aoy 2235 oY | ¢ Maids ejossnq Jad ayA | 8L
wnjujwn(y owwn|y 1 ysnq bupaq moj d1oudjul opoddns Ip ejossng /L
SUISai J1[D}adY ©d1[e1dd. BUISDY 1 (wooq yoys) bulpag aiousjul opoddns | 9|
Aojp [2315 oleIdY l Hoys oixqly | GlL
Aoy 12315 o1y l Maids duoisindsanue A | L
Aoj|p 2315 oledY 1 dojs jybry onssp ousdq | €L
12315 SS3|UID]IS XOU| OleIddY 1 buy [p1apy e3P RIAIYD | TL
Aoy 12315 oIy v M35 Ided Jad YA 1L
wnjuwnjy owin|y 1 J23ip) zejobal Ip 1oue) | oL
4an | L buu-0 | 6
1235 SS3JUID]S XOU| ORIy L buu [pjayy duessed eIy 8
Aojjp 2235 oledY 1 J3YSDM UOIIDIOJ}UY SUOIZBIOJUE B[]opUOy YA
whnjuwnfy owlwn|y L db> uoi3joid duoizayoud 1p oddey 9
4N | T buu-0 | S
Aojjp 2235 oledY 1 dojs 1Jo7 0J3SIUIS OWID %
Aojjp 12315 oleIDY 1 MBS Juawisnipy suolzejobal Ip SUA €
Aojjp 12315 ORIy 4 uid 2335 oleldde euids 4
Aojjp 12315 oIy 4 ysnq [23)S oleldde ejossng L
[pLI2IDY dlelIde £1rd uopulWoua auoizeujwouaq sod

STVIdILVYIN

INMVIdILVIN

625



. 415 - PNEUMATIC ACTUATORS > AGO COMPONENTS' TABLE OMAL SpA.

..
-

COMPONENTI "AGO" SEMPLICE EFFETTO: SR 4000
"AGO" SPRING RETURN COMPONENTS: SR 4000

626



OMAL SpA.

PNEUMATIC ACTUATORS > AGO COMPONENTS TABLE

415 -

1 1pd 21pds jo spuaUOdWo) OlqUIRDL IP 13| [9p 1IejodIMed 4

1 1pd 21pds Jo spuaUOdwo) OlqUIRDL IP 113 [9p 1IejodIMed 4

SdOLVNLOV

JILVINNINd

STVIdILVIN

INMVIAILVIN

wnjujwnfy oulwn||y 4 dp> bunds 0]03d1d ejjowuo) | 85

4N | ¢ buu-o0 | (s

4aN | ¢ buu-0 | 9s

wniuiwnfy olujwn||y 4 dp> buuds apueib ejjow o) | §§

Aojp 13235 OleIDdY 4 buyids |puiajul eusdul e|ION | +S

Aojp 13235 OleDdY 4 buuds |puiaix3 euIA)SS RO | €S

Aojp 3235 OleIDdY 4 jnu do) eypofed>eopeqg | s

4an | ¢ buu-0 | «ls

wniuiwnyy oluiwn||y 4 abupj4 auoisidpu eibuel4 | 05

Aojp 3235 OleIDdY 4 MaIds qQnio oueln | 6y

Aoj|p 19235 oleddY | {1 maids elbuelyip | 8b

wniuiwnyy oluiwn||y C abupj{ oipulji>pu eibuely | /i

Aojp 2235 OleIDdY k4 106225 | ot

Aojp 13235 OleDdOY l Jayspp) oyoddns ejlapuoy | St

HaN L 19YSDD 19}Jed duOIZIUIeND) | i

Aojp 3235 OleIDDY l 1296235 | ¢t

Aojp 13235 OleDdY L J3Ysb| “welossads Ip e||apuoy | v

SuISal D[p]ady edI|e}dde eUISDY L buupaq isniyj ousdisaddns Ip ofjpuUY | 4l
Whd | L buu-0 | <0

SUISal J1|p3adYy edl|e}dde. BUISDY l (doj ypys) bunpag aiouadns onoddns | L6€
wniuiwny oluiwn||y L Apog odiod | g¢

¥aN | 8l buu-0 | «L€

4N | ¢ buu-0 | x9¢

SuISay DI|padYy BdIjeISdR BUISDY L ybys buupag ddns/ii0ds Ip ejossng | g€
Aojp 2235 Ole1DdOY L YO Y2)0dS ©|[92104 | €

wnjujwnyy oulwn||y 4 uojsid auolsld | €€

¥4aN | ¢ buu-o suoisid Bul-0 | €

Pajjij a1ydpi9-0ip) ‘J:1d C (ppay uossid) buribag epinb Ip ojjduY | L€
4N | ¢ buu-0 | x0€

[DLI2IDYY BjelIdey £10 uonpuIWOUa duoizeuiwouaq sod

Aoy 12235 oleIXdY [4 Maid§ e|low edledaid dA | 67
Aojjy 2215 oleIddY 4 NN opeq | 8¢
Aojy 12235 oledy | 8T nu do) enojed e opeq | /g
Aojjy 2235 oledy | 1 smaids doy o1b6Bejquiasse Ip YA | 97
wniujwn|y oulwn|y [4 dp) odde] | gz
4N | ¢ buu-o oddey buu-Q | 42
wnuwnfy ouwn|ly | ¢ J3puljfd [pi3)p7 djeISYR| CIPUND | €T
Aojjy 2215 oleddy | ¢ urd buuds suoisindsanue euids | zz
SUIsay dI|p3ady edleIdde BUISAY | ¥ (2pq uojsid) buLpag MBY2SIA | xLT
SUIsay 2I|D3ady Bd1[e}Sde BUISDY l ybys bulpag O}USWILIODS Ip e[OSSNg | 0T
[ANE] L bul-0 | «61
Aojjy 9335 oledy | ¢ Maing epdepauliad auA | gL
wnjuiwnjy oluwn|y 1 74 2IDI3)u] GT4 ePdeRd| | /]
SUISaY DI|D33dY BDI[RISDE BUISDY 1 (wooq yoys) bulpag di01a4ul opoddns | 9|
Aojy 12235 oredy | | ybys osaqly | S1
Aojjy 2235 olepdy | | Mans duolsindsaiue A | 1
Aojjy 2215 oleIddY l dojs jybry onsspowsdd | €|
132}S SS3JUID}S XOUI Ole[IDY l buii [pjayy e3P RIBIYD | T
Aojjy 9235 olePdy | Mans Jdped Jad SUA | L1
wnjujwnjy oulwn|y L 12340 ‘zejobai Ip J33ed | 0L
¥aN | L buu-0 | «6
132}S SS3JUID}S XOU| Ole|DdY l bul [pjayy 9wessed eidlyn | 8
Aojjy 2215 OledY 1 13YSDM UOIID}OJI3UY SUOIZRIOIUR B|]SpUoY |/
wnjuiwnjy oluIwWN||y l dp> uoipraj0iq suoizajoud ip odde] | 9
¥aN | ¢ bun-0 | «§
Aojjy 2215 oleddy | | dojs ya7 onsiuIs oWy | ¢
Aojly [231S OreIddY L MaJds uonppjnbay auoizejobal Ip dUA | €
Aojjy 12235 oledy | ¢ uid 2315 olepoe euids | ¢
Aojjy 2215 oleIdY 4 ysnq 23S olede ejossng | |
[pLI2}DYY BRI 10 uonpulwWouag duoizeujwouaq sod

STVIdILVIN

INMVIIILVIN

627



417 + PNEUMATIC ACTUATORS > AGO - SPECIAL VERSION ON REQUEST - SPRING RETURN "SR" ACTUATORS OMAL Sp.A. e
I EE—————————————————————————
.
-

AGO - Versioni speciali a richiesta - semplice effetto "SR"
AGO - Special version on request - spring return "SR"

| codici indicati fanno riferimento agli attuatori in alluminio. The codes indicated refer to the aluminium actuator.

ATTUATORI SEMPLICE EFFETTO CON VERNICIATURA EPOSSIDICA SPRING RETURN ACTUATOR WITH EPOXY PAINTING

SRN15 SRN15 SRN30 SRN30 SRN53 SRN60 SRN90 SRN120 SRN180 SRN240 SRN360
F03-FO5 Fo4 F04 F05-F07 F05-F07 F05-F07 F07-F10 F07-F10 F07-F10 F10-F12 F10-F12
SRNO015V01S = SRNOO15V02S | SRNOO30VO1S = SRNO030V02S ' SRNO053V01S | SRNOO60VOTS = SRNOO90VOTS = SRNO120VO1S ' SRNO180VO1S = SRN0240VO1S = SRN0360V01S
SRN480 SRN480 SRN720 SRN720 SRN960 SRN960

F10-F12 F14 F12 F14 F12-F16 F14

SRN0480V01S = SRN0480V02S = SRNO720V02S = SRNO720V01S | SRN0960V02S = SRN0960VO1S

ATTUATORI SEMPLICE EFFETTO ALTA TEMPERATURA (-20°C / +150°C) HIGH TEMPERATURE SPRING RETURN ACTUATOR (-20°C / +150°C)

SRN15 SRN15 SRN30 SRN30 SRN53 SRN60 SRN90 SRN120 SRN180 SRN240 SRN360
F03-FO5 Fo4 F04 F05-F07 F05-F07 F05-F07 F07-F10 F07-F10 F07-F10 F10-F12 F10-F12
SRN0015450S = SRN0015452S | SRN0030450S = SRN0030452S ' SRN0053450S ' SRN0060450S = SRN0090450S = SRN0120450S = SRN0180450S = SRN0240450S = SRN0360450S
SRN480 SRN480 SRN720 SRN720 SRN960 SRN960

F10-F12 F14 F12 F14 F12-F16 F14

SRN0480450S = SRN0480452S = SRN0720452S | SRN0720450S = SRN0960452S = SRN0960450S

ATTUATORI SEMPLICE EFFETTO BASSA TEMPERATURA (-50°C / +60°C) LOW TEMPERATURE SPRING RETURN ACTUATOR (-50°C /+60°C)

SRN15 SRN15 SRN30 SRN30 SRN53 SRN60 SRN90 SRN120 SRN180 SRN240 SRN360
F03-FO5 Fo4 F04 F05-F07 F05-F07 F05-F07 FO7-F10 FO7-F10 FO7-F10 F10-F12 F10-F12
SRN0015550S = SRN0015552S | SRN0030550S = SRN0030552S | SRN0053550S | SRN0060550S = SRN0090550S = SRN0120550S ' SRN0180550S = SRN0240550S = SRN0360550S
SRN480 SRN480 SRN720 SRN720 SRN960 SRN960

F10-F12 F14 F12 F14 F12-F16 F14

SRN0480550S = SRN0480552S = SRN0720552S | SRN0720550S = SRN0960552S = SRN0960550S

ATTUATORI SEMPLICE EFFETTO 40 PSI + 2,8 bar SPRING RETURN ACTUATOR 40 PSI + 2,8 bar

SRN15 SRN15 SRN30 SRN30 SRN53 SRN60 SRN90 SRN120 SRN180 SRN240 SRN360
F03-FO5 Fo4 Fo4 F05-F07 F05-F07 F05-F07 FO7-F10 FO7-F10 FO7-F10 F10-F12 F10-F12
SRN0015441S | SRN0015442S = SRN0030441S = SRN0030442S = SRN0053441S = SRN0060441S ' SRN0090441S = SRN0120441S SRN0180441S SRN0240441S = SRN0360441S
SRN480 SRN480 SRN720 SRN720 SRN960 SRN960

F10-F12 F14 F12 F14 F12-F16 F14

SRN0480441S = SRN0480442S = SRN0720442S SRN0720441S | SRN0960442S = SRN0960441S

ATTUATORI SEMPLICE EFFETTO 50 PSI + 3,5 bar SPRING RETURN ACTUATOR 50 PSI + 3,5 bar

SRN15 SRN15 SRN30 SRN30 SRN53 SRN60 SRN90 SRN120 SRN180 SRN240 SRN360
F03-FO5 Fo4 Fo4 F05-F07 F05-F07 F05-F07 FO7-F10 FO7-F10 FO7-F10 F10-F12 F10-F12
SRN0015455S | SRN0015456S = SRN0030455S = SRN0030456S = SRN0053455S = SRN0060455S = SRN0090455S = SRN0120455S = SRN0180455S = SRN0240455S | SRN0360455S
SRN480 SRN480 SRN720 SRN720 SRN960 SRN960

F10-F12 F14 F12 F14 F12-F16 F14

SRN0480455S = SRN0480456S = SRN0720456S = SRN0720455S | SRN0960456S = SRN0960455S

ATTUATORI SEMPLICE EFFETTO 60 PSI * 4,2 bar SPRING RETURN ACTUATOR 60 PSI + 4,2 bar

SRN15 SRN15 SRN30 SRN30 SRN53 SRN60 SRN90 SRN120 SRN180 SRN240 SRN360
F03-FO5 Fo4 Fo4 F05-F07 FO05-F07 F05-F07 FO7-F10 FO7-F10 FO7-F10 F10-F12 F10-F12
SRN0015461S = SRN0015462S | SRN0030461S = SRN0030462S = SRN0053461S | SRN0060461S = SRN0090461S = SRN0120461S ' SRN0180461S = SRN0240461S SRN0360461S |L:) &
SRN480 SRN480 SRN720 SRN720 SRN960 SRN960 % |9
F10-F12 F14 F12 F14 F12-F16 F14 o) <DE
1]
SRN0480461S = SRN0480462S = SRN0720462S = SRN0720461S | SRN0960462S = SRN0960461S % Q

Arichiesta esecuzioni per taglie superiori On request executions for larger sizes

643



. 418+ AGO PNEUMATIC ACTUATORS ACCESSORIES OMAL SpA.

ACCESSORI ATTUATORI PNEUMATICI AGO
AGO PNEUMATIC ACTUATOR ACCESSORIES

BOX DI SEGNALAZIONE CON FINECORSA
LIMIT SWITCH BOX

Lew )

ELETTROVALVOLE

SOLENOID VALVES
OPERATORE MANUALE DI SBLOCCO

MANUAL OVERRIDE WITH HAND WHEEL

ELETTROVALVOLE NAMUR
NAMUR SOLENOID VALVES

644



418 - AGO PNEUMATIC ACTUATORS ACCESSORIES OMAL SpA. __‘

POSIZIONATORE ELETTROPNEUMATICO
(SICUREZZA INTRINSECA)
ELECTROPNEUMATIC POSITIONER
(INTRINSICALLY SAFE)

POSIZIONATORE PNEUMATICO
PNEUMATIC POSITIONER

FINECORSA DI PROSSIMITA'
PROXIMITY LIMIT SWITCHES

FINECORSA ELETTROMECCANICI
ELECTROMECHANICAL LIMIT SWITCHES

FINECORSA PNEUMATICI
PNEUMATIC LIMIT SWITCHES

PNEUMATIC

%)
[ad
2
<
2
=
Q
<

FINECORSA ANTIDEFLAGRANTI 112GD ExdIIC
EXPLOSION PROOF LIMIT SWITCHES 112GD ExdIIC

Per maggiori informazioni consultare Catalogo Accessori OMAL. For more information check the OMAL Accessories Catalogue.

645



__‘ 419 - AGO PNEUMATIC ACTUATORS CERTIFICATES

—
INCRIS

Apﬁareil non électrique destiné a étre utilisé en atmosphéres explosibles
jon efectrical equipment intended for use in potentially explosive atmospheres
Apparecchi non elettrici destinati ad essere utilizzati in atmosfera potenzialmente esplosiva
Directive 2014/34/UE
Directive 2014/34/EU / Direttiva 2014/34/UE

ACCUSE DE RECEPTION D’UN DOSSIER TECHNIQUE
ACKNOWLEDGE RECEIPT OF TECHNICAL DOCUMENTATION

AVVISO DI RICEVIMENTO DEL FASCICOLO TECNICO

Appareil / Equipment / Apparecchiatura :
PNEUMATIC ACTUATORS
Type(s)/ Type(s) / Tipo(i) :  DA-DAN-DANV-SR-SRN-SRNV-DD

11 2G Ex h lIB/IIC T6..T3 GbX
it 20 Ex h filC T85°C..T175'C Db X

Marquage/ Marking / Marcatura :

Dépositaire / Applicant / Richiedente : OMAL S
Via Ponte Nuovo 11

I 25050 Rodengo Saiano (BS)

LINERIS, organisme  notifié et INERIS, notified body and identified L'INERIS, organismo notificato e identificato
identifié sous le numéro 0080, under number 0080, in accordance with con il n.0080 conformemente agli articoli

OMAL SpA.

CERTIFICATE

This certifies that the company

Omal S.p.A.

Via Ponte Nuovo, 11

25050 Rodengo Saiano (BS)
Italy

Is authorized to provide the product mentioned below

Description of product: Pneumatic scotch-yoke spring return and double acting actuator
series SR, SRN, DA, DAN

conformément aux articles 17 et 21 de la
Directive du Conseil  2014/34/UE
du 26 février 2014, accuse réception
du dossier conformément 3 la
procédure décrite au  chapitre 3,
article 13 1) b) ii) de la Directive.

La documentation technique référencée :

articles 17 and 21 of Council Directive
2014/34/EU of the 26 february 2014,
acknowledges receipt of file  according
to the procedure described  chapiter 3,
article 13 1) b) i) of the Directive.

‘The technical documentation referenced

17 € 21 della Direttiva 2014/34/UE del
Consiglio dellUnione Europea del 26 febbrafo
2014, conferma it icevimento  del fascicolo
in conformita alla procedura prevista nella
rubrica 3, articolo 13 1) b) fi) della Direttiva.

La documentazione tecnica di riferimento :

In accordance with: EN 61508:2010 Parts 1, 2, 3,4,5,6,7

AP-18 dated 02/09/2019 AP-18 dated 02/09/2019 AP-18 dated 02/09/2019

est consignée sous le numéro is consigned under the reference : & depositata con il numero di registrazione :
denregistrement :

n" INERIS-EQEN 034995/19.

no INERIS-EQEN 034995/19. n* INERIS-EQEN 034995/19.

)] TSR

]

Le Directeur Général de The Chief Executive Officer of IL Direttore generale
il

ERIS, INERIS, dell' INERIS,
Par délégation, By delegation, Per Delega,

Dans le cadre de cet enregistrement, Within the scope of the recording, Nel quadro di questa registrazione, o
IINERIS n'a pas examiné le contenu INERIS did not examine the contain INERIS non ha examinato il contenuto k)
de la documentation technique. of the technical documentation. della documentazione tecnica. 1z
. — i Bl

Date de fin de validité : Validity completion date : Data di fine di validita : p
2029.10.01 2029.10.01 2029.10.01 £
Verneuil-en-Halatte, le 2019.10.01 &

1] s :

/) e g

H

2

&

x

i '
Parc Technologique Alata BP 2 F-60550 Verneuil-en-Halatte
té1+33(0)3 445566 77 fax +33(0)3 44556699 internet www.ineris.fr
Institut national de Fenvironnement industrie! et des risques
Etablissement public & caractére industriel et commercial - RCS Compiégne B 381 984 924 - Siret 381 984 921 00019 - APE 71208 - TVA Intracorm FR 73 381 984 921

A ATEX (Pneumatic actuator ATEX compliance)
OMAL progetta e produce i propri prodotti in conformita alla direttiva ATEX,
la quale regola limpiego di apparecchiature in ambienti con atmosfere

esplosive.

OMAL designs and manufactures our products in accordance with the ATEX
directive, which regulates the use of equipment in explosive atmospheres.

646

Registration No 20 20293 01
Test Report No PS-20293-20-L
File reference 20293-01

Validity
from  2020-07-03
until  2023-07-03

\ \\ /
\\‘\‘,cm eme—-

TOV NORD Htalia S.r.|. (TUV NORD Group)
Via Turati, 70 - 20023 Cerro Maggiore (MI) www.tuev-nord.it

Cerro Maggiore, 2020-07-03
prodotto@tuev-nord.it

Please also pay attention to the information stated overfeaf

A SIL (Pneumatic actuator certificate)

Certificazione di conformita alla norma IEC 61508, del livello di sicurezza
funzionale del prodotto destinato ad essere integrato in sistemi con un livello
di integrita funzionale fino a SIL 3.

Certification in compliance with the IEC 61508 functional safety level requirements,
meant for products intended to be integrated in safety integrity level systems up
to SIL 3.



419 - AGO PNEUMATIC ACTUATORS CERTIFICATES OMALSPA o
L,
———
-

[ H [ EBPA3WCKUIA SKOHOMWUYECKUIA COO3 [ H [ Ne EADC RU C-IT.AA87.B.00308/20
AEKNAPALS O COOTBETCTBUM CepmaRU N 0124960
ObecTso ¢ orp «CIIEKTP». OPTAH I10 CEPTU®HKALIAM  Opray
MecTo Haxok/eHHs (ATpec OPHAYECKOrO MHLIA) 1 ATPEC MECTA OCYLLECTBIIeR A AeaTenbHoct: 124527, POCCHS, (OCIICBD) 06  conpatsenol it SBosanentoN i py
ropox Mocksa, ropoa 3eniesorpas, kopnyc 834 B, keaprupa 37. u“"F'YI““J'I"“"" (oo?i AHHO 0 IICB3»). Anpec Mecra -B'MWA 1 iopuieeioro ua: Poccus, 140004, Mocroncias
OIPH: 1207700050491 Homep renedona: +79775863958. Anpec e il.com eas A...w‘ LY paRoR, TopOTiopephus mnceatR T FLH, S Tl mﬁmm s,
spenan {anan. ropox umpmumox BYLH, AO Ganox HKOMALL, Jh Tack 3, ofprcs 2613,
B smue: renepansHoro anpextopa [onyGesoit Hanexer Cepreesibt 26/4 i 27/t 3,%’;, f‘i .,‘:1,. % 11AA87 ot 20.07.2015 r. Tesnepon: +7. (495)55'2533.53, +7 (495) 558-82-44,
sasisasier, uro [T eCKHE NPHBOJbI i apmaTypsl, Toprosax Mapka "OMAL" cepun DA, DAV, 3 corpa wKow;
DAN, DANY, DAHG, SR, SRY, SRN, SRNY, SRHG, DD, 5 (em. Nel wa | Anpec mecra naxnzmemu JOPHAHYECKOTo JHNA B aapec Mu‘ra ocynlec‘rwennn ResreabmocT:
nucte). Poccus, 141551, v obaacts, C
B Am:peenm, yauna Kuauncxas, 1ow 7. OTPH: 1165044050236. Te.'ledmn. +7 925 566.78-45.
Hsrotosuteas: «OMAL S.p.A.». NOYTHI: Nl
Mecro HaxoxaeHs (aapec iopuanieckoro auua): UTAJIHA, Via Ponte Nuovo, 1125050 —Rodengo Saiano, Brescia
Azpeca mect 10 u3r : UTAJINS, Via Ponte Nuovo, 11 25050 — HUBTOTOBUTEAD  OMAL S.p.A.
Rodengo Saiano, Brescia; UTAJIMS, Via Brognolo 12, Passirano (BS) Azpec MecTa HaXOKAeHNS 0pHARTecKoro mna: Via Ponte Nuovo, 11 - 25050 - Rodengo Saiano (BS), Hraaus.
Koa TH B9J1 EADC 8412390009. Anpeca MecT 0CyIeCTB/ICHAS e TEALHOCTH 10 H3TOTOB.JICHNI0 mpoxykuun: Via Ponte Nuovo, 11 - 25050 -
Cepiisit sLInyoK. Rodengo Saiano (BS), Hramns; Via Brognolo 12, Passirano (BS), Arams
CoorpercTayer TpefoBanaM
T T © 601038 «O MawmH (TPTC 010/2011) TIPOAYKIIHS Kl“"bb satnopu, , apmatypa
cE: COrIacHo
—— (cm. Gankn N_N‘e 0692401 0592402, 0692403, 0692404, 0692405).
Tpotokonst ensrrati 3o ROL- MO 008424 ar 1801 2019, Ne RO1-MO 000049 ot 16.01.2020, Ne RO1-MO 001592 o LIS — CM. Gnank Ne 0692400.
21.01.2020 npoussoACTBEHHOM HCNbITaTe bHOM 1aGopatopun "OMAL S.p.A.", anpec: HTAJIMS, Via Ponte Nuovo, 11— Cepuiinptii BeTycK
25050 — Rodengo Saiano, Brescia.
OGocHosase GesonaciocT AP.12.002 OB ot 12.11.2019.
Texunueckue nacnopra Ne D2097SRN0120 ot 30.06.2020, Ne D2097SRN00S3 ot 30.06.2020 KOATHB3AEASC 8481 80, 8481 900000, 8412 39000
F 110 YCTaHOBKE i rif. 8_0842 01 01.01.2017.
Uepresn 1_2433 ot 14.04.2014, 1_2434 ot 14.042014, 4001AB12 or 11.10.2019, 4015AB10 o1 23.02.2015, CF030140 COOTBETCTBYET TPEBOBAHHMAM
or 16.04.2002, SRN0030402S ot 18.06.2019, SRNV0030402S or 19.09.2019, RFDCOF1717 ot 07.09.2011, TP TC 012/2011 «O GesonacmocTn 050pyoBanHs 1151 paGoTHI BO BIPLIBOOACHBIX CPEAAX
DANO0060412S o 23.10.2019, DANV0060412S ot 19.09.2019, DAV480401S ot 25.11.2018, DD060402S ot
17.06.2011, DDN060402S or 27.08.2018.
Cxewa JeKiapuposanis: 11,
JlonoarnTeasRast nHpoOpMALIs
Tpimensiemie cranaaptsi: FOCT P 52869-2007 "I Tpe6 3
VCN10BHS XPaHEHHA: XPAHHTS B 3aKPhITHIX c BeHTUAIIMEH, neficTBH CEPTH®UKAT COOTBETCTBUS BHIAAH HA OCHOBAHMI
pAMBIX nyvelt, 0caKos i ar cpext, MpH TeMMepaType BOIAYXA OT - 110°C 70 +60°C. TIporoxosa nenprrannii Ne 02.2020-T or 14.01.2020 yerpoiiers
Cpok Xpatieiis Ge3 nepexoHcepBaumit — He Gonee 24 Mecsiltes. Cpok ciyGb — 10 ter. < EEROMMED i S i B
SCTIEKTP" - cpen (aTTe
OGutecrao ¢ orp o "CITEKTP" - y w3t HIO HA Ne POCC RU.000121MIILS ot 16.10- 2015); v ll)lepousnonma N lﬂé-A/l;T -
0066 .11.2019 Oprana mo u p; (OC IICB3)
WEeCTBA € OrpaHH4eHHol orsercreennocteio «IlenTp mo
TBUTEJILHA C IaThl perueTpamin no 19.07.2025 BKIIOYHTENLHO pyammmoro ovopyzopamusy (000 HAHHO TICBIn); ll:
KavecTne TP TC 012/2011 (em.
Gk Ne 0692400). Cxema cepraduicarum — 1. (cm. npuiowenne,
TOJIVBEBA HAJIEX]IA CEPTEEBHA AOIOAHUTEABHAS MHOOP! MAHI/DI
i ocHoBe A5t TP TC 012/2011
(:M. npHioKenne, Gaank Ne 0692/‘00) Veaosust u cpok XPAHeHHSI YKA3AHBI B OKCILTYATAUHONHON
Aoxymentanun. Hasnadennblii CPOK cayK0bI — YKA3AH B TEXHNIECKOIL JOKYMEHTAINE.
° : EAJC N RU JI-IT.CI128.B.11055/20
CPOK AEMICTBUsIC. 22012020 po 21.01.21
JaTa peracTpannu AeKIApPaUKK 0 COOTBETCTBHI 20.07.2020 B Sl LG
Pyxopoasress (ynoanoxowennoe
AWI0) oprama mo cepTRGEKaMH
Oxenepr (axcnepr-ayanTOp)
(oxemeprst (oxcuept aysrropsr) )
| s =

A EAC-EAC"EX"
Certificazione di conformita del prodotto ai regolamenti tecnici applicabili nell'unione doganale EuroAsec (Russia, Kazakhstan, Bielorussia, Armenia).

Certification of the compliance of the product with the Technical Regulations applicable in the EuroAsec Customs Union (Russia, Kazakhstan, Belarus, Armenia).

PNEUMATIC

%)
o
2
<
=)
—
Q
<

647





